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Q1) Obtain the equivalent resistance at the terminals a-b for each of the circuits
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Q2) Find i, v and the power dissipated in the 6Ω resistor.
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Q3) Determine i1,i2,v1, and v2 in the ladder network , Calculate the power dissipated in the 2Ω resistor.
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Q4) Find i1 through i4 in the circuit shown below
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Q5) Find Vo and Io in the circuit shown below
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Q6) For the circuit shown below find

a) The equivalent resistance Req and total current I.
b) The dissipated power in resistor R1.
c)  The voltage drop Vo.
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Q7) Find I and Vs in the circuit if the current through the 3Ω resistor is 2 A.
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Q8) Use KCL to obtain currents i1, i2 and i3 in the circuit shown
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Q9) Use KVL to obtain voltages v1, v2, v3 and v4 in the circuits shown below
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Q10) Find v1, v2 and v3 in the circuits shown below

[image: image14.png]v



               [image: image15.png]+ N

v @®

2V v

e




Q11) Find I and Vab in the circuit shown. 
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